SECTION A

y+3 _ 2z-5

5 3
the point (1,3,5) in vector form is.........

2. The point of intersection of the lings= (- +2] +3k) +t(-2i + ] +k) and
F =20 +3] +5k) +s(i +2] +3k) is.........

1. The equation of the line paralleljt(e:)l_—3 = and passing through

3. The centre and radius of the sphere giverxby y* + 2 -6x+8y-10z+1=
IS.enen. =
4. If G=ax(bxc)+bx(cxa)+cx(axb) then.... A )
U=ax(bxC)+bx(cxa)+cx(axb) ,the “,\\
5 fa+b5+c=0 |a =3 |B] = 4. |Z] =5 then the angte , N /
between a and b is t ¥y
L &
_ AL N
A 4
6. The vectors '-'_:'}—3?—4_&'} and :'4r_z}+b_1}+-:'T‘rlr a;reperpendicu]ar‘mnk"_'
- —}.
7. The area of the parallelogram having a diagonal 17+ J — F and a side 7 _-‘ 4k i

TN e Y \)

ﬁ.
0. pr q and E} + ¢ are vectors -::-fmagmmde then the ﬂlaE’:IJlﬂ.I.dE of _it:' -4 | 15

10H‘rz:<(b>cf') ?}c .:'::-cn}+e:':-<( )—x>111:|e1.1
— —
11_EPR=2?+? s O5=— i —3?+ 2K then the area of the quadrilateral PORSis

— —
12. The projection of OF on a umit vecter OO equals thrice the area of

parallelogram OFRQ. I']:neu |POQ is

w

13, If the projection of a on b and projection of _-E'; on T‘:} are equal then

- = = =
the angle bem'eeu a+ b a.ﬂd a—bis

4Ifrz :-c(b:-c-r) (nxb) ?fmmucoplanar'.emcr}?? _c}l:heu

15. fa lme miakes 457, 6D° with positive direction of axes x and y then the
angle it rual:es with the = axis is

e
6_If[?>< b,'b >:?, CKTT}] =Iﬁ4r]1en[T1}, E} ?]15
L

17 ¥[3+%, B+2, 2+a] =sthen[7,

- >
18. The value -::-f[: + j

— -
19, The shortest distance of the point (2. 10, 1) from the plane ¥ - (-‘
20 The vector (TT} P F) = (? b ?) is

21 If E}: ?: ?} are a right handed triad of mutually perpendicular vectors

of magnitude a, b, ¢ then the value of I:? F _c?] i3

0



22 Ifa. ? ? are non-coplanar and
(2. 2«2, 23] = [2-7.%-2. 23] e [T B F]is
23. _;} = 5?+ :? iz the equation of
24. If the magnitude of moment about the point ? +F ofaforce
=
i

+ .:1? -7 acting through the point T ? is /2 then the value of 2 is

25 The equation of the plane passing through the point (2, 1. — 1) and the

line of intersection of the planes Ed (?—3?—? = 0 and _,.}.(?4._1?}:[]1-}.”

26. The wotk done by the force ? = ? + _j} + ? acting on a particle, if the N
. 3) to the point B4, 4, 4) 15 e | §

particle is displaced from A(3, 3. 3) to the point B4, 4. 4)1s | / N/
&
27_If?=?—2?+3fmd?=3_f}+?+]?rheuamnh'ecmr l\ '\y
perpendicular to T‘:} ﬂ.ud?:is / A N ) 4
. . . x—8 y+4 z—4 ) —
The point of intersection of the lines s -~ 4 ~ _g and )
28. B B
=1 p+2 z+3 y
T e
-1 y-2 =z-3
29 The shortest distance between the lines 5 = L 3 =3 and
. x=2 y—4 =z-=5 y
3 -4 -5 8 /\\ \
- -1 = -7 y—=1 =z-
The following two lines Mﬁ¥=u=: and - =1—=" 5 L
30. ) SR R

A _N |
31 IfT‘:} and E} are two untt vectors and € is the angle between them, then ( a -+ E}) 1% a unit vector if

e R\

32 If a is a non-zero vector and m 15 a non-zero scalar then ma 15 a undt  vector of

w -

33. If @ and B include an angle 120° and their magnitude are 2 and /3 then 7. TFis equal to

Pt . x=3 _y-1_z-5  x—-1_y-2 z-3_

34, The shortest distance between the parallel lines 4 — 2 -3

— — . N
35 KFR=27+ 7 + k. O5=- 1 +3] +27% then the area of the quadsilateral PORS is

A

SECTION B

1. Altifedes of a triangle are concurtent — prove by vector method.
2. Provethat cos(d-Bl=cosdcosB+sind sinB

3. Prove that €05 (4~ By=cosd cosB—sind sinEB

4. Prove that sin(d = B) = sind cosB + cosd sinB

5. Prove thatsmn (4 - B)=sm.d cos B—cosdsin B

6. Fa=27+37-F., B=-27+5k £=7-3%

=-2 .
Verify that _a}x(?:-:_c})=(? _c}) B - (? . E})



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

B
3> — — = = -
a=i+j+k b= Z_r} K.f‘=2!+? rf:?
xX— 1 1 X z

7 - T +T 1%
. . -+ o +

Show that the lines — 1 1_.1 p and 24=“]|j= 3 L
intersect and hence find the point of intersection.

-1 y+1 =z -2 y-1 -z-1
Shony that the lines ==t =7 and =l 5= intersect

1 -1 3 1 2 1
and find their point of intersection.
Find the vector and cartesian equations of the plane through the

) ) x—2 y-1 =z-3 x—1 y+1 =2

pownt (2. — 1, —3) and parallel to the lines =3 = 77 = and —5— = —3 -

Find the vector and cartesian equation of the plane through the point i, G \

.1'+1='|'—2=:+3mdx—2=1.'—1=z 2{\\/

(1, 3, 2) and parallel to the lines 2 —1 3 1 2 2
Find the vector and cartesian equation to the plane through the pgi:u{ A N
(—1. 3, 2) and perpendicular to the planes x+2y+2z =3 and 3x+y+2z =8, U
Find the vector and cartesian equations of the plane passmg \

through the points (— 1, 1, 1) and (1, — 1, 1) and perpeudicula.r to the plane x + 2y +2z=
) 4

N

Find the vector and carfesian equations of the plane passing
throngh the pownts (2, 2, — 1), (3.4, 2) and (7, 0, §) &

Find the vector and cartesian equation of the plane containing the line
-2 y-2 z-1 ooox+l w—1 =z+1
3 =3 = 3 mdpamlleltotheline —5— =775 = 1

=

Find the vector and cartesian equation nf‘rh'e ;larue pa-;sﬁg through the
| h g x=2 y+1 z-1

potnts A1, — 2. 3)and B (-1, 2, — 1) and is paralle] to the line 2 3 T 4
Find the vector and cartesian equation of the plane through the points
(1,2, 3and (2, 3, 1) perpendicular to the plane 3x— 2y +4z - 5=10

Find the vector and cartesian equation of the plane containing the line

=7 p=1 -
2 5 = : 3 - = ._,1 and passing through the point (- 1, 1, — 1)
Find the vector and cartesian eguation of the plane passing through the
_}
points with position vectors '-_r} + 4 7+ 2F. 2T - _} - _u} and 7 _}— L

Derive the eguation of the plane in the intercept form.

21. Fmd the vector and cartesian equation to the plane through the point (-1,-2,1)
Aand perpendicular to the planes X+2y+4z+7=0 and 2x-y+3z+3=0



Curve tracing

Equation y=x+1 y=x
¥
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¥ =x
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